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Large scale generation of electric power is usuallyphase at generated voltages of kV or somewhat higher. Solution: For Load 1, cos 6P= Since the
motors are induction motors, the power factors are lagging The motor operates with a power factor of StepDetermine transformer phase voltage
and line voltage: StepDetermine load phase voltage and line voltage: StepCalculate load phase and line current: StepDetermine transformer
secondary phase and line current: ES,P=V E. S,L=3ES,P=V ChapterBalanced Three-Phase CircuitsThree-Phase SystenmsAnalysis of the Y-Y
CircuitAnalysis of the Y CircuitPower Calculations in Balanced. line Three-Phase Circuits If balanced, can do analysis as single-phase.
Transmission is generally Three-Phase Transformer Design. Three-Phase CircuitsMeasuring Average Power in Three Phase Circuits Wye Connect
Systerms. How to get all the unknowns (e.g. Use ax probe to observe Chapter Three-Phase Circuits Exercises. [ ]

ID00=- 0000 0ooHor- DOOHe0H o - L. Van=o Vbn= o0 Ven= o 4-wirephase wye system with line-to-neutral voltages of volts
and VIN chosen as the reference phasor at zero degrees has line-to-line voltages of, V="; V=2, V=°Z £ Z. After this presentation you will be
able to: Identify circuit impedances, voltages and currents using the double subscript notation. [1[1= [1[] [1[]1 =110 Z£0°I[] £43°Q =
£—43°11[]. We canuse the current phasor PTotal =I[L. VPH PTotal = 3 IL VL Or PTotal = (V3)12() = WDelta to Delta See Figure Figure In
this case the voltage across the resistor is three phase voltage and the load current is calculated as follows: IPH = VPH/R IPH = /A IPH = A.
Let’s calculate the power for one section For Load 1, FLA =A, PF =, lagging and for Load 2, FLA =A, PF =, lagging. What is a three-phase
circuit (source, line, load)? Calculate the power delivered to the load: SA: =1aA - Va SA = 3 Balanced Three-Phase Networks We are
accustomed to single-phase power in our homes and offices A single line voltage referenced to a neutral Electrical power is generated, transmitted,
and largely consumed (by industrial customers) as three-phase power Three individual line voltages and (possibly) a neutral The source voltage is.
The apparent power, Pt, is described in detail in ChapterThe apparent power, Pt, ofa A line current (IA), Phase A load voltage (VAO), Phase A
load power (PAO), and Neutral Return line current (ION). Why a balanced three-phase circuit can be analyzed by an equivalent one-phase
circuit? This application note is a continuation of Dataforth’s Application Note AN, which contains AC system definitions and basic Three-Phase
Transformer. Output Power Versus Apparent Power, Pt, Capability. Find the currents and power factor in the common three phase feeder
(Currents A, B & C in Fig). Perform calculations on wye 3-Phase AC Calculations Revisited. Use current shunts as required. ¢) Find the current
flowing in the neutral. The current phasor is. b) Find the line current phasors in each of the three phases of the resistive load. [177=[]
[J0£0°I1. The source voltage phasor is. Calculate the current in the neutral wire: INn= IaA +IbB+IcC. Preamble. Important concept:
Aphasewire delta configured system of balanced voltages does not actually have line- Example a) Find the line-to-line voltage phasors for the wye
connected source. — Use phase variables (voltage, current, impedance, etc) — Need to find line variables for some Learning Objectives.



